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1. The reaction: ATP +H,O I ADP + Pj; can be interpreted as a statement which describes the

movement of a phosphate group from an environment in which it is bound to ADP, 1o an environment in
which it is

A) ionized to PO43' B) bound to water C) bound to ATP D) esterified to ADP
E) Both 'A' and 'D' are correct

2. Which of the following sets of anatomical sites supports the digestion of starch?

A) mouth -- intestinal lumen  B) intestinal lumen -- hepatic portal vein ~ C) stomach -- liver
D) stomach -- intestinal lumen E) mouth -- hepatic portal vein

3. The *first stage' of glycolysis typically ends with the formation of the metabolite
A) lactate B) phosphoenolpyruvate C) glucose D) ATP E) glyceraldehyde-3-P

4. The conversion of 7 millimoles of glucese into lactate, under anaerobic conditions, will generate

millimoles of lactate and millimoles of ATP.
Ay7--28 B)y7--7 C)7-14 D) 14 14 E)14--7
5. Under anaerobic conditions, the glycolytic pathway is obligated to produce lactate in order to insure a
supply of . which is needed for the continuation of the pathway and its production of ATP.
A) NAD* B) PEP C) AMP D) ADP E) NADH
6. During periods of ATP demand in an intracellular context, the [ATP] is and the shape of the
kinetic response curve for phosphofructokinase tends to be . As the [ATP] increases, the kinetic
response curve assumes a shape.
A) high -- hyperbolic -- sigmoidat B) low -- hyperbolic -- sigmoidal

C} low -- sigmoidal -- linear D) high -- sigmoidal -- hyperbolic E) low -- finear -- hyperbolic

7. Complete the following reaction: PEP (phosphoenolpyruvate) + i pyruvate +
AATP P, B)ATP-ADP  C)ATP-H,0  D)H;0-ATP  E)ADP--ATP

8. Which of the following cellular environments is least likely to employ the phosphogluconate pathway?
A) red blood cells B) contracting skeletal muscie C) hepatocytes D) resting skeletal muscle
E) adipocytes

9. As one considers the glycolytic pathway, and the reaction: GgH1,0g +6 0y < 6COy + 6 HyO
(G- =-2880 kJ}; one realizes that
A) lactate can be further oxidized B) CO,, is missing from the glycolytic pathway

C) glycolysis should stop at pyruvate D) glycolysis should produce than twe ATP's
E) glycolysis is very inefficient

10. The TCA Cycle can be interpreted as an oxidation-reduction process whereby is oxidized and

is(are) reduced

A) lactate -- carbon B) carbon -- pyruvate C) carbon -- redox coenzymes D) oxygen - pyruvate
£} oxygen -- carbon

11. When a millimole of glucose is catabolized via the glycolytic pathway and the TCA Cycte, how many of the
six glucose carbon atoms are converted into carbon dioxide via the TCA Cycle?
A4 By 1 c)3 D)2 E)6 ‘
12. What is the ratio of 'millimoles of ATP produced' to 'millimoles of CO 4 formed' for the TCA Cycle?
(NOTE: Answers are to be read - 'millimoles ATP" : 'millimoles CO ')
A) 32 B) 36:1 C)6:1 D) 5:1 E) 2:1




[image: image2.png]13. The glycerol phosphate shuttle involves the use of the oxidizing agent to convert NADH

{cytoplasmic) into NAD™ under aerobic conditions. Under anaerobic conditions, the oxidizing agent
is used to achieve the same conversion. (NOTE: 'DHAP" = dihydroxyacetone-P)

A) DHAP -- pyruvate B) glycerokP -- factate C) DHAP -- lactate D) glycerol-P -- pyruvate
E) glycerol-P - DHAP

14. The 'Pasteur Effect’ observes that when a cellular environment switches from anaerabic to aerobic
metabolism of glucose, lactate, which had been produced during the anaerobic operations, diminishes.
This is because lactate is being converted into when oxygen is present.

A) giycerol-P B) citrate C) pyruvate D) DHAP E)CO,

15. The B-complex vitamin thiamine manifests itself in the form of
enzyme system.

A} ATP B) DHAP C)TPP D) TTP E) GTP

in the pyruvate dehydrogenase

16. The type of skeletal muscle fiber called ‘white fibers' is characterized by performing contractions
which are very short-term and intense. Such fibers would be expected to metabolize glucose and
would aiso be expected to store glycogen (per cell) than red fibers.

A) aerobically -- less B} anaerobically -- more C) aerobically -- more
D) anaerobically -- less E) aerobically -- the same amount of (as)

17. Acell as a resutt of storing glycogen as a polymer (polysaccharide) rather than as a monomer
(simple sugar).

A) conserves P; B} conserves energy C) becomes more contractile
D) becomes hypotonic (wiresp to plasma)  E) becomes hypertonic (w/resp to plasma)

18. Which aspect of giucose metabolism occurs in the neurons of the central nervous system?
A)G-6-P i” glucose B) gluconeogenesis C) glucouronide formation D) giycegen storage
E) TCA cycle
19. The hepatic catabolism of fructose converts this ketohexose into the glycolytic component
A)G-6-P B)F6-P C)DHAP D) glyceraldehyde-3-P  E) Both 'C' and 'D’ are correct
20. A shortage of the enzyme ‘aldolase’, in fructose catabolism, leads to a condition called and

produces symptomatic liver damage due to the accumulation of large amounts of F-1-P, producing a
shortage of , within the hepatocytes.

A) essential fructosuria -- ADP B) essential fructosuria -- glucose
C) fructose intolerance - fructose D) fructose intolerance - P;

E) essential fructosuria -- fructokinase

21. The assimilation of glucose by a skefetal muscle cell is inhibited by
A) increasing [ADP]  B) falling [ATP] C) the enzyme glucokinase D) the enzyme hexokinase
E) increasing [G-6-P}
22. The net production of glucose from the reaction: G-8-P + H,0 _ glucose + P; slows drastically in
the liver as the [G-6-P] approaches a value of about mM. (NOTE: K, for glucokinase = 10 mM; K,
for G-6-phosphatase = 3 mM; K, for hexokinase = 0.1 mM; [9'“°°se]plasma =5mM)
A)3mM B) 5 mM Cy0.1 mM D} 1 mM E) 10 mM

23. The TCA Cycle enzyme isocitrate dehydrogenase is inhibited by and such an inhibition causes an
increase of the mitochondrial concentration of

A) NAD* --isocitrate  B) NADH —citrate  C) ADP - citrate D) NADH -- isocitrate
E) ADP -- isocitrate

24, Inhibition of pyruvate dehydrogenase occurs as a result of the
pyruvate dehydrogenase)

. (NOTE: 'PDH' stands for



[image: image3.png]A) activation of PDH phosphatase  B) inhibition of PDH phosphatase  C) inhibition of PDH kinase
D) activation of PDH phosphorylase E) activation of PDH kinase

25. Complete the following reaction: Creatine-P 1
A) Creatinine + P; B) Creatinine + ATP C) Creatine + HoO Dj Creatine + P;
E) Creatine + ADP

M ATCHING

THE ITEMS 26-30 REFER TO THE LIST AT THE RIGHT. THERE IS ONLY ONE CORRECT
ANSWER FOR EACH ITEM 26-30, BUT A GIVEN RESPONSE FROM THE LIST AT THE
RIGHT MAY BE USED MORE THAN ONCE

26. This compound has a A) F-1,6-P
standard free energy (~Gi )
of hydrolysis which is B) G6-P

larger than -31 kJ/mol
C) Pyruvate
27. This reagent is always

formed as an end product D) Ribulose-5-P
of the metbolism of
glucose in mature red E) Creatine-P
blood cells
AB) Lactate
28. The reaction which forms
this substance is AC) NADH
catalyzed by the enzyme
phosphofructokinase. AD) Glucose
29. Reagent which is a AE) F-6-P
component of the second
stage of glycolysis under BC) F-1-P

aerobic conditions.
BD) Dihydroxyacetone-P
30. When one millimole of this

substance is oxidized in BE) Acetyl CoA
the mitochondrion, up to
three millimoles of ATP CD) Succinate
can result

CE) CO,

DE) Citrate

TRUES.---FALSE
A) (B)

31. The total amount of glycogen stored in the liver is greater than the amount stored in skeletal muscles.
32. The active form of pantothenic acid is typically seen in many redox reactions.

33. In order for the reaction: X-P + ADP i~ ATP + X; to have a negative "Gl , the free energy of
hydrolysis of X-P should be larger than -31 kJ/mol.

34. The presence of oxygen inhibits the operation of the glycerol phosphate shuttle.

35. The reactions of carbohydrate metabolism show that B-complex vitamins are used, but not used up, as
glucose is oxidized to CO5

1-B 2-A 3-E 4-D 5-A 6-B 7-E 8B 9-A 10-C 11-A 12-C 13-A 14-C 15-C 16-B 17-B 18-E 19-E
20-D 21-E 22-A 23-B 24-E 25-A 26-E 27-AB 28-A 29-C 30-AC 31-B 32-B 33-A 34-B 35-A
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Which sec of simple sugars can be Ldencified as sterecisomers?

A} fructose and cibose 8) cibose and deoxycibase . € glucoce and fructose

01 glyceraldehyds and dihydroxyacetone "% satactoss and glucoss Do, DA L

Whét s che maximu oumber of stereolsamers cne could write for the sisple sugar 2-deoxyribose?  (NOTI
Deoxyribose has Che formul csumo.j
no1s @1 o 2 o

Which of che carbohydrates shown in the display at Che bottom of the page should be classified as a
Kezohexosa?
@) pig. TT 8 Pig. HH o #1g. ss o) Pig. AR € Fig. 4J

1 ope wece o prepars a non-reducing disaccharide using Pig. SS and Flg. TT. the giycesidic linkage
would have co be
MLk DR ER @26 024 [GREE]

The che aumber of & 1-é linkages presenc in & glycogen polymer. the greater cthe number of ___:

in the polymer.
A) fewer —= 1-4 Linkages 8) greater -- 1-4 linkages €} fewer -- ‘reducing ends*
groacer - ‘non-reducing eeds- B} greatac -- ‘reducing ends'

The cells of che Intescinal aucoss prodice an array of anzymes Which catalyze the hydralysis of
giycosidic iinkages in a4 scarch polymer.
A only B i-4 8l onlya1-6 C) bothal-4 and B 1-4 Q) bocth @ 1-4 and @ 1-6 El only & I-4

. The 4G* for the hydrolysis of a phosphate anhydride linkage in AT (adenosine criphosphacel is about -31

kJ/mole and che AG* for Che hydrolysis of a phosphace ester linksge is about -13 kJ/mole. Sscisace the
total 8G° tor the ceaction: ATP + 3 H0 — adencsiae + 3 P;.

AF 18 kT a9 € -80 xa D) -§7 W B -93 k3

1¢ three millimoles of G-é-? are processed via che glycolytic pachway uncil chey are coaverted into
pyruvate, the cesult is che production (necl of ____ millimoles of ATP and _____ millimoles of

6 EE ] B4 -4

. B9 -6 c 6

curve when is high and a

‘he enzyme phosphofructokinase (PPX} shows a hyperbolic kinetic raspon
sigmoidal kinetic response when ____ iz high.
A) [ATP) -- [AMP1  B) [ADP] -- [AMP] 'Cl [ANP|- -- {ATP] DI [AMP] -~ (ADPI E) (ATP]

The work pocencial used to drive the resction: 3-phosphoglyceraca - 7; — 1,3-bisphosphoglycerate +
HyQ, is supplied fro the . {MOTE: This reaccion prepares a very high energy phosphace compound:
used 1n the formacion of ATP)

& axidation of glyceraldetyde-3-p B) reducrion of pyruvace €} hydrolysis of ATP
D) phosphorylation of PEP £} phosphorylation of ADP
(%"

{aop!

2scimace AG" for che resction: ADP + 1,3-bisphosphoglyceraca — ATP + 3 phosphoglycerate. if aG* for
the reaction: 3-phosphoglycerate » -+ 1.3-bisphosphoglycerace « HyO0 is +52 kJ/mole
® -nw 8) -6 kT o -3 % 04 -3t kJ ) -53 k2

1 agene ___ . for tha glycalvtic pathwny. the metabolite
PYTUVACS UL Dw . in & seaclion WhiCh aiso prodaces loctute. au well av U raguired idiiog
agent

A) NADH -- bydrolyzed (81 )uAD*

C) NAD® -~ oxidized D) NADH -- oxidized
© NADH -- reduced

Oue to the _____ associated with a carbon-cacbon double bond appearing in & facty acid, che melting
point range of criacylglycerols containing unsaturated farcy acids is found co be consistencly
than that of triacylglycerals concaining only saturaced fatty scids.

A) pK, -~ higher 81 stersochemistry -- lower €1 stersachemiscry -- highes
D! oxidacion scace -- lower E) oxidacion state -- higher

Triacylglycerole are not suitable for uss in che formacion of a lipid bilayer because They have __ .
A) no double bonds in thelr structure B) na hydrophilic componenc
€} oo many double bonds in Cheir structuce ©) high melting poincs

€ a Cormula weighc which is too large

The ceduction of Ia che phosphogluconate pathway results in Che production of 4 pencose and

AV NAD®* -- CO, 8) MADER

i-e €) NADP* -- ribulose-5-p B} G-§-p -- £O,
€ rimlose-5-¢ -- COy

Bvary time a millimole of aceryl CoA is prnceuscd by che TCA Cycle (from citrate Co oxaloacwtatsl, . _
millimole(s) of COp and willimlets) of NADH wre produced.
a3 -2 B2z ORI oz (U]

Assuaing chat the recucing agencs trom the TCA Cycle produce ATP €O Che following excent: NADM -- ) ATP
sach; PADH; -- 2 AT each; estimate Che mumber of millimoles of CO; Chat would be produced as 50

millisoles of ATP are generated by cthe cyel.
A 10 LTINS @2 D & R

HOH
CHIOH  CHOH W) CHOM  OM o
H :ﬂ Y H ﬁ on ' e )
H > b o “on ?3 ;I

<40
W-C-u
u-Con
H-C . oM

gt
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. The cells of The Central nervous system raquire axygen in order to mstabolize carbohydrac:

XAz

Due to the action of the TCA Cycle, an increase in the mitochondrisl concentracion of . will cause
an increase in the concentration of

A} ADP -- cxaloscetate B} AT® - a-kacoglucarate  {C) NADW -- citrate . D) MAD® —- AD
E) ADP -- isocitrat®

. When comparing the glycogen cancent of so cailed 'fasc twicch' muscle tibers {aka. whice fibers) co

“slow twitch* fibers (aka. red fibers). che ‘fast twitch® fibers would be axpected to contain

glycogen bucause Of their tendency ro setabollle carhohydraces

A} less -- nrghxmuv P less anasrobically €} more -- aerobically
@mn -~ enmerobically E) equal amounts of ~- anserobically

. The resction cacalyzed by che pyruvace dehydrogenase enzyme syscem is regerded a5 .. because che

process dapends on.a supply of mitochondrial uhich requices oxygen for its concimied formaciom.

@ aerobic -- NAD® Bl aerobic -- Chiamioe C) anaerobic -- thiamine D) aerobic -- CasH
B) anaerobic -- ligoic acid

The disorder known as fructose intolerance is a condition arising froa a deficiency of the enryme
‘aldolase’ found in ____ cells and as a resslt of this deficiency., a shortage of develces 1a
chose cells. .

a) hepacic -~ fructokinase B) hepacic -- P-1-P ©) adipose -- glucokinase

©0) skalecal muscie -~ DHAP €) hepacic -- ATP
. Calactose sncers che glyeolycic pathway after being converted to che mecabolite R

A PG B8} glyceraidehyde-3-P <) G-6-p - DY pyruvace & oiar
As the hepatic ation of appe: the &, for che net uptake of glucose by the
liver siows drascically.

Al G-6-@ -- glucokinass 8) G-6-¢ -- hexoklnpase <€) glucose -- G-6-phasphecase

D) G-6-P -~ G-G-phosphacase B} glucose -- glucokinase

An increase in (NADH] tends Co __.__ Che offecC of Che enzyme which SLOWS che rate of Che
prruvace dehydrogensse catalyzed-Tesction. (NOTS: POWK = pyruvate dehydrogensse Xinase and POWP x
prruvace denydrogenase phasphatasel
A) inhibit -- POHK 2 ionibie - POMP ©) enhance -- DMK D) eshance -~ POHP
B) enlance «- pyruvate dehydrogenase

As the glycemic index for a carbohydrace increases, The the glucose tolerance curve .
A) height of -- increases B) haight of -~ decreases €} ares under -- incresses
0 duration of -- decreases E) area under -- decreases

N
YHE ITEMS 26-30 REFER 70 THK LIST AT YHE RIGMT. THERE IS ONLY ONE CORRECT
ANSWER FOR EACK ITEM 26-30, 8UT A GIVEN RESPONSE FROM THE LIST AT THE
RIGHT MAY BE USZD MORE THAN ONCE.

Boch starch and glycogen - A} Glucose
bave this monossccharide /\

soncmeric component . 8) Pyrancse
. This glyceolytic componenc <) Ribose

bas & 46" of hydrolysis -

which excesds thac of ATP. - ©) Puranose

This high energy phosphate E) Pentose

compound is produced

anaerobically by the TCA AB} Glucose-§-P

Cycle.

AC) Succinyl Cod

. Red blood cells always

zelease chis substance ta AD) Sucrose

c©he blood plasma a

cesult of carbohydrace AE} Phosphoenolgyruvace

setabolism.

BC) Glyceraldehyde-3-2

. Thiz cerm describes the

five membered ring focmed 8D} ATP
by some simple sugars.
BE} DHAR
<o e

Lectate, produced by amaerabic glycolysis is skelecal suscia Cwils. is recained and used av o fuel vhen
axygen becomes availabie to that cell.

. AL of the carbon dioxide produced when glucuse is metabolized anserobically is gemeraced by che

ceactions of che TCA Cycle. .

Because it s sweerer thaa giucose. fructose can be aasumsd to have a higher energy content than
glucose.
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131 have dhich formula when it is convertsd .imuo a Wemi-ketal scructure (i.e. pyranoge ‘or

) c‘n,,o5 3 251206 b Cegpos o egigeos (¢ Hie Q6
he following features charuczerii:s a speritialdisiccharids?

Pt or ‘L' configuration arbon atoms_involved in the glycosidic linkaga

total number of glycosidic linkages DJoumher of simple sugars involved
E) & or B configuration

9]

ifch simple sugar is c ©o lactose, maltose, and sucrose?
%) galactose %glum;e €} ribose D) fructose E) mannose

Prom the structures shown at the bottom of the page, select the orie.which {3 both a hexose and a B

sugar. B
Ay pig. TT B) Fig. XX € Pig. YY {n)) Fig. RR E} Eithex. Fig. §Sior Flg. Xx

2 Fig. XX and Pig. YY.. £ron the botiom-of the page, wers used to form a non-redicing dida¢charide, the
linkage wbuld be and Ehe -irew sugar would: shew carbon atoms.
A) 124 - 11 B 152 F- 12 172 4- 11 D) 1-4 -- 12 E) 1-4 -2 §

6. A feature which is common co. the ‘enn:‘:-’p’v",o‘iwiﬂh;oéapd: oil and lard is that they ail are composed

exclusively of e
rlacylgiycerals 8)" phosphiarides

Lar; Mphds D) sterols E) sphingoliplds

7. 1o be a part of a lipid bilayer, diYipid-miat-debonstrate i, lil sk & component of lts structure.
ome hydrophilic chafacter ' B) a gterdlinucious  C):4lycernt - D) uisaturaced fatty acids ~
B) saturatéd. fatty wnids’ ;

6. complece the glycolytic reactich: Fré-E. 3
A) frugtose -- ADP B) frugrosa ~= By
B) F-1,6-F o= #;0

% 9. 1f there is n fntracellular biildup. of lactate. thé. Flycyiyiis;sathull &

© 7 iptracellilar .. _ o mecabolite . g
A) excess -- NAD* B) Jshortage <- NAD* Cj -shortagé -- NAGH
7 7T -B) shortage - pypuvace : e e
; ross L
10. Starting with G=6-P, how many miTlimoles of lactate will be producéd:ds (Che sVsrui:gsnerares 24 JoA © B,R((
n"u,l_%mles of ATP (net) andérobically? (NOTE: Answers are in millimoles of-lagcats)’ B N
' (6% Y B} 36 e 12 Dy 24 - ] Rt
’ it. If a very high energy phosphace compound, X-P, has a AG® of hydrolysis equal b =47 ki/mol, egtimate Act \
for the reaction: X-p « ADP — ATP » X. P
A =K B -7 k3 ) +78 kI D) 15 k1 £ 47 Ky 2
12.° A% Ehe glycolytic pathway is functioning, the kinetic response curve Eor the enzyme phasphofiuctokinase N
is low. INOTE: - The. nigration ! (X{X)' -

(PPK) 15 ‘sigmoldal when is high and hyperbolic when
XXX in noles per liter'

is-réad ‘cofcentrat Lo i
A) [AMP] -~ (ATP] v[A’l'Pl -~ [ATP} CJ {ATP] -- [AMP) D) [ADP] -- [AMP] E) [AMP]. == T[AMP)

©13.¥7he. *shipt ' produces rfeducing agents by oxidizing che metabolite
& SRy BY NADEH C)-ribose-5-F @ms-a £) Fl6-p

Ifihe péntage pathway produces 15 millimoles of ribulase-5:?, it will also produce millimdies of

0. .
LAY 15 cr s » 30 B s

5. A§-t¥e. TOA cycle converts § millidoles of gitrace into millimoles 6f oxaloacetace,
MiFiimoles of COp will Né produced. :

RN IS P § B 10 -- 10 € .5 -5 D} 10 -- 5 £1 Impossible to determine B
15:7Aé the TEA cycle runs, an increase in the foncentration of causes inhibition of the enzyme
A¥-NADH -- isucitrate dehydrogenase B) AMP -- citrate synthase
<) NAD* -- pyruvate dehydrogeénase D) ATP -- phosphofructokinase E)-ATP -- hexokinase
17." Under sereblc conditions, the oxidation of glucose fails to produce lactace because .
A any lactste s immediately oxidized to CO, B) pyruvate is unavailable to be reduced
©) glycolysis is anaerobic D) the TCA cycle is aerobic £} the ‘SHunk® is aerobic
1a. oxygen is required for the operation of the TCA Cycle in order to insire a supply of which. in
turn, is needed Eor the continued functioning of the cycle
A} ATP B) acetyl SCoA €) NADH D) NAD* E) FADH,
\ .
HOCH, OH HOCH, CHyOH
. - O 8 H o_ PR . o
Fig XX = Fig.72 on Fig. 58 Ho——
o) g ——OH
3 HOCH, HOGH, OH |, OH — . | Ton
0 t o t on
= HO H
- Fig: YY H Fig. RR y H,0H
' “ou ¢ " Ho
Fig. T

n OoH oH
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!ehvd;&gena:e e:izyna Bydden falls Eo opaiare: propay
Fely durifg: caﬂmhyﬂ.ranl étabolism due ta atm) P’?‘ 3 .

BfL.CoA . B) Joas - shortage gk acenyl
=x=,ess GE FAD*

R
.hygx-alyztng Ubbrgucase. B addinq excess E1-p.
g i ©Y ‘a8ding excess UDP-glucdase LB
‘ ‘zé e, pm:mays for the cataugkism of 'hon-glucose’ carBohydratas,.
#4s of Th carhphydyace all the carbon atons: fibm that shgg’f
whiether the catabolism is aerdble or anaeroblc. AL
‘A)_pyruvéte B) G-6+P ) glicose

. 3. ‘eiek this twu agents which are ‘significant in the control af Glubivs whcsk i
anigwers £or this question) ;“‘5 k@’l@ & l’é‘lg

A) hexokinase (@ amylase ©) insulin B) 6=k
24. Cells called always praduce lactate a3 glucoss is catabolizéd. &
A) erythrecytes B" contral. nervous System cells & aijpbepead
E) skeletal muscla cells B

The glycémic index for a sugar is defined as Che ;
@;a under the’ ghigoseLites

A) peak value for plasma [glucoss]
B) tims requizddfor plasma (ghucose] ts retup

€)' Ky for hexokinase
E) leVel of sugar swéetness

THE ITEMS- 26-30 REFER TO THE LIST AT THE RIGHT. THERE IS. GNLY ONE CORRECT
ANSWER ‘FOR EACH ITEM 26-10, BUT A GIVEN RESPONSE FROM THE LIST AT THE .
RIGHP MAY BE USED MORE THAN ONCE.

26. This simple’ sugar is an A/ ) Glucose
aldohexoss.. 3 X
) Niacin
27, ‘Which iype of carbahydrace b
would be unable to be €1 Ketozes
catabolizédl by glycolysis
without the reactions of D} Fryctose
the “shunc?
) El Ribose
28. Whidhimetabolite §s formed
by the TCA Cycle and then AB) Riboflavin
lost to Ehe system. g
AC) Thiamine
9. wngh, the hepatic -
intracellular . D} Acetyl Co
coneentrarion of this
substance increases, BE} €0y
olilgese [i5. formed in those
e81ls. 8C) Glucokinase ‘<

3a. 'rhxs B-complex vibanin is BD) Oxaloacetate

eoLide in‘its
e, BE} Hexokinase L
€D) Pyranoses =

CE} G-6-P

DE) Pentoses

- - F a2 L s E
(8)

Lactate which ferms during some types of carbohydrate metabolism, quickly leaves the cell in which it is

a1
£otmed and bedomes & blood plasma component.

32. It would be impossible for the liver to convert the carbon atams from fructose into compenents of a
glycogen polymer.

33. The neuroms of the central nervous system store large amounts of glycogen to insure an adequate fuel
supply. for these cells.

34. The TEA cycle operates only in cellular contexts in which oxygen is present.

35. The nigher the melting point range of a triacylglyceral, the more unsaturations (carbon-carbon double

boads) will be found in that triacylglycerol. F

2-8 3-B_4-0. 5-C 6-A 7-A 8-E -9-B 10-A 11-D 12-B 13-0 14-B 1S-A 16-A 17-B 18-D 19-C
21-C 22°A 23-DE 24-A25-B 26-A 27-DE 28+AE 29-CE 30-AC 31-A 32-B 13-B 34-A 35-B





